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Bachelor of Commerce (Part II) Assignment 2022-23

Programme Name: Bachelor of Commerce (Part II)
Paper Code — BC 07
(Corporate Accounting)

IERLRCICIG ]

Max Marks: 30
Note: The Question paper is divided into three sections A, B, and C. Write Answer as per
the given instruction.
TRIF T A’,’B’ 3R «C’ T @i § T 2] seie @ve o Memgar gai o1 3w €y

Section-A
(Very Short Answer Type Questions)
AT 7Y ST AT T (AT

Note: Answer all questions. As per the nature of the question you delimit your

answer in one word, one sentence or maximum up to 30 words. Each question carries

1 mark. 6x1=006
e Teft T2 T ST AR 31T 31U ST R ILTIHR U I16g , ek JTeRT AT SAferehaw
30 vTsat ® Ui RIS Uedieh U127 1 37k hT g 6x1=06

Q1 () Write names of AS-03
TRET AT -03 1 T fora|
(i)  Explain "Accounting Equation"
TR THIHTT T T TS 22

(i)  Write down two limitations of accounting.

[GICIERERARILIC I

(iv)  Explain Accounting Cycle.
[GElET EERREIED]

(v)  What do you mean by issuing of shares at discount?
T hT g TR 119 & 3719 7 F9d 27

(vi)  What is the main difference between share and debenture.
3T F 0TI ok Hed W@ =L STaral|
Section-B
(Short Answer Questions)
Y I AT I
Note: Answer any four questions. Each answer should not exceed 100 words. Each

question carries 3 marks. Tre: Featalaa o o feredi 4 o %Wﬁﬁﬂ AT U 3T
T TN 100 TSET H URETHA hITSTA| Tedeh W27 3 3Rl T g

VMOU, KOTA Page 3



Bachelor of Commerce (Part II) Assignment 2022-23

What do you meant by the term "Inter Company Holdings"?

«3F=T: ST fafnT” wreq @ o dTedd 22

Clarity with the help of an example the "Capitalisation Method of super profit in

the context of goodwill.

el o T H «<afereet s gefivra fafer ol sk IaTetor g T

Explain "Assets method of valuation of Shares."

ST 3 TR sht gt foifer 6t amema

Who are the users of Accounting information?

AT HT GATST % SUINT ST B 22

Prepare summarised form of balance sheet as given in revised schedule VI of the

Companies Act, 1956.

FHET ST, 1956 it wemfera stgget VI H i ma fag o wférm ey dam
Section ‘C’

(Long Answer Questions)

(el ST ATy T2)

Note: Answer any two questions. You have to delimit your each answer maximum up to

400 words. Each question carries 06 marks.

e : FraterRae o & foReet 02 wat o1 3ax difSTujsTeht 31om Tedeh I st Aferskhad 400
7ea| H YT T 8| Tedeh T 06 3Thi o1

7.

Company offered 1000 equity shares of Rs. 100 each to the public. The amount
was payable as follows:

on application Rs. 50 (including Rs. 10 premium); Rs. 30 on allotment and Rs. 30
on call. Application of 1000 shares was received and except a holder of 100 shares,
who do not deposit final call. Give necessary journal entries of these transactions.
Teh T = 1000 T 3T 100%. Tt ST ohl ST ford 99 W' 311ee W 50%. (10
&, Siftrm gfeq), 30%. @ 30%. TR AT 1000 T 3 [T TG T8 ¢
ShaleT Teh e TSRk 918 100 37T 3, T 3Tf~qd Wi eht ST 2t ke Suieh saaemil
EQICICEREAS ERRINIERIKIE ]

From the following information find out value of goodwill by capitalisation of
super profit method:

Frerfer qErTa & STRremt 36 GoeroT R g e T e

(1) Average capital employed Rs. 12,00,000

aitaa fafsenfsr st 12,00,000 %
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Bachelor of Commerce (Part II) Assignment 2022-23

(i1) Net trading profits for the proceeding three years -, Rs.1,91 ,000, Rs.1,57,000,
Rs.2,01,000 respectively.
G, SATITHER AT G Ut i st o 3hAST: 1,91,000 €. 1,57,000 &. T 2,01,000 %,
gl
(ii1) Expected return on capital invested in same type of business: 12 % per annum.
srgeTia fafraore gsftor e 36t Wi o SR | 12 fowrd anfies 2

9. Describe main features of AS-14 regarding Accounting for Amalgamation.
TEHIHTUT o TR o TF=9 § AS-14 o T foregel i fererar st

10.  Describe different methods of redemption of preference shares.

AR 3T & e Al v fafRr st aof )
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Bachelor of Commerce (Part II) Assignment 2022-23

Programme Name: Bachelor of Commerce (Part II)
Paper Code — BC 08
(Cost Accounting)

ARTA TR

Max Marks: 30
Note: The Question paper is divided into three sections A, B, and C. Write Answer as per
the given instruction.
TRIT T A’,’B’ 3R «C’ T @i § T 2] sies @ve o Maemgar wai o1 3ot i)

Section-A
(Very Short Answer Type Questions)
AT 7Y ST AT T (AT

Note: Answer all questions. As per the nature of the question you delimit your

answer in one word, one sentence or maximum up to 30 words. Each question carries

1 mark. 6x1=06
Tre: Tt Toit T ST AR AT STUF IR T TATTAR Teh 6T, Teh AT AT SATErhad
30 yTsat ® uiEfre R Uedes T2r 1 3Tk T g 6x1=06
Q1 () What do you meant by cost centre?
AT Shek & 31T T AU 22
(i)  Write formula for calculating minimum stock level.
AN T T 3T TUHT T G fer@l|
(iii)  What do you mean by 'Cost plus contract'.
AT 20T SohT & 31T T TSI 22
(iv)  Write formula of calculating labour idle time variance.
ST ShTIE TH 3T T 3ht 7o 61 o forat
(v)  Write treatment of overtime in cost accounting.
AT ST H SATEHT Tl fohd T T2
(vi)  What do you mean by abnormal gain?
FEHTH AT O 71 T 87
Section-B
(Short Answer Questions)
Y I AT T
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Bachelor of Commerce (Part II) Assignment 2022-23

Note: Answer any four questions. Each answer should not exceed 100 words. Each

question carries 3 marks. re: FfaRaa o & for=di 4 went o I Y| AT U
IR T ATLUHAT 100 ITSTT | TRETTHA hITTA| Teeh TH 3 Thi 1 g

2 Give the object of cost accounting.
AT TG o 3639 foral|
3 "ABC analysis plan for material control'. Explain it.
T TR ABC forsor JisHT Sl
4 Explain Labour turnover.
o FrenTet ht EmereT]
5 Write formula for calculating bonus under Rown plan with an example.
Teh ITENT Wl e AISHT o Sl S TUHT ahT G fora|
6 Explain the reasons for difference in profits as per cost books & financial books.

AT @@t F T @ o AT § 3Tt o 21 I hi gHES
Section ‘C’

(Long Answer Questions)
(e STR AT T2)

Note: Answer any two questions. You have to delimit your each answer maximum up to

400 words. Each question carries 06 marks.

e : FraterRae o & foReet 02 wat o1 3ot difSTajemeht 31om Tedes I st Afershad 400
7ea| H YT T 8| STeleh T 06 3Thi o1

7. Mention in brief various control accounts maintained in non-integrated system of
accounting.
T GHTeR T TEid § W S ared fafy= Fasoramal s g i s s

8. Write the cost accounting treatment for joint & by product.

TG 3cUTE I 0T I¢UTE o AN i s ot farfer skt e

0. Explain the methods determination profit on incomplete contract.
YT ok O AT <Y o bt ferfRre SRt emEe

10.  If selling price per unit Rs. 10, variable cost Rs. 6 per unit. Fixed cost Rs. 20,000.
Calculate P/V, BEP (in Rs.), profit when sales is Rs. 5,00,000, and also calculate

sales if profit is Rs. 1 lakh.

It forsha vear ufd 318 10%., TEdHeia AmTd 6 %, Ui 3ehTs, TR @M 20,000%. &
A AT T ST, 99 foeeg fomg, (2. H), e afe fosher 5 ar@ . grqam afg &y |1
TG &. Bl forshar 31
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Bachelor of Commerce (Part II) Assignment 2022-23

Programme Name: Bachelor of Commerce (Part II)
Paper Code — BC 09
(Company Law & Secretarial Practice)

o arfirfaem e afeT ugfa
Max Marks: 30
Note: The Question paper is divided into three sections A, B, and C. Write Answer as per
the given instruction.
TRIF T A’,’B’ 3R «C’ T @i § T 2] seie @ve o Memgar gai o1 3w €y
Section-A
(Very Short Answer Type Questions)
AT 7Y ST AT T (AT
Note: Answer all questions. As per the nature of the question you delimit your

answer in one word, one sentence or maximum up to 30 words. Each question carries

1 mark. 6x1=06
Te: THT TV T 3T SHRY) 3T 37U 3T i TLTIHR Tk 165, Ueh TR AT TR d
30 yreat § ufeetfie SR e U9 1 TR T Y 6x1=06
Q1 () Explain the meaning of Company.
ot % 31ef wE i
(i)  Give the definition of a promoter.
e oh! TTCATeT SR
(i)  What are the objectives to make Memorandum of Association?
T EHTHI Rl ST o T 363 &1 &7
(iv)  What do you mean by Prospectus?
fereror & et T ATeTd 22
(v)  What do you understand by member of a Company?
HIHT % T T T T THEAd 82
(vi)  What do you mean by Managing Director?
IR TN T ST 22
Section-B
(Short Answer Questions)
Y I AT I

Note: Answer any four questions. Each answer should not exceed 100 words. Each

question carries 3 marks. Tre: Featalaa o o feredi 4 o %Wﬁﬁﬂ AT U 3T
T TN 100 TSET H URETHA hITSTA| Tedeh W27 3 3Rl T g
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Bachelor of Commerce (Part II) Assignment 2022-23

Describe the main characteristics of a Company.
T U1 ST T farIsarstt &1 Ieor@ hHifsm|
Distinguish between Memorandum of Association and Article of Association.
qTe ST S aTE STt H o Sdersd|
State in brief how Directors are appointed in a company.
Teh hEoHT 8 EeTeTehi oh e forer o Brelt 27 Wi F srarga|
What are the grounds on which company may be compulsorily wound-up?
TR STTEITT R ShPaY o STfamed wwTa foram ST Eha 22
Discuss the main duties of a Company Secretary.
o1 Gl o g et shi e i
Section ‘C’

(Long Answer Questions)

(e ST ATy T2)

Note: Answer any two questions. You have to delimit your each answer maximum up to

400 words. Each question carries 06 marks.

e ; FraterRaa o & foReet 02 wat o1 3o difSTujsTeht 31om Tedeh I st Afershad 400
7ea| H YT T 8| STeleh T 06 3Thi o1

7.

10.

What do you understand by promotion of Company? Describe the legal formalities

that are necessary to be complied with regarding to the formation of a Company.

FHFOHT o T | T AT B, WIS Hrdt ST o STgER g o 0T o6
gt for for Senfaren Sftummitmaratt Y qfd st sifamd 2
What are the main clauses in Memorandum of Association of a Company Limited

by Shares. Describe the procedure of altering the object clause.

it gy Eifird kot 3 arde Efar fram & g o e B 80 SER are | uftedd
1 e farfer skt o shifsrn

"While the Directors are the brains-of the Company, the Secretary is its ears, eyes
and hands." Explain this statement and state the importance of a Company

secretary.

“Ffe GETCToh HETT o HIASh BId & o el 3ok oh1d, TG AT 81 8Idl =1”° e shi
T ST T FHFIT e hT Hecd Id13y)
What is a statutory meeting? What are the duties of a Company Secretary regarding

statutory meeting?

Jenferen guT T B 2 AR YT o G UH hea] gie o T S 27
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Bachelor of Commerce (Part II) Assignment 2022-23

Programme Name: Bachelor of Commerce (Part II)
Paper Code — BC 10
(Business Organization & Management)

SHTIATIR T3 Ua Ta-eT
Max Marks: 30
Note: The Question paper is divided into three sections A, B, and C. Write Answer as per
the given instruction.
TRIT T A’,’B’ 3R «C’ T @i § T 2] sie @ve o FMemgar wai o1 3w €y
Section-A
(Very Short Answer Type Questions)
AT 7Y ST AT T (AT
Note: Answer all questions. As per the nature of the question you delimit your

answer in one word, one sentence or maximum up to 30 words. Each question carries

1 mark. 6x1=06
Tre: Tt Toit T ST AR AT U IR T TATJAR Teh 16T, Ueh AT AT SATErhan
30 yTsat ® uiEfre R Uedes T2r 1 3Tk T g 6x1=06
1. (1) What do you mean by 'Business Organization'?

AT GIST T T T T 22

(i)  What do you understand by social environment of business?

ST o |1 JTATET & ST T THed 82
(i)  Write two main differences between equity shares and preference shares.

THAT SN TS ITTrRT 71T B 3T o &1 JeT = sTaTsd|
(iv)  What is 'circular business combination'? =IshIT TG GAS FT 82
v) State the main functions of Management. I8¢ £ BLiE} EARIEAERIER]
(vi)  What is meant by 'Principle of Equity'?

T 1 frsaer o faaT-a & e aread 82

Section-B
(Short Answer Questions)

Y I AT T

Note: Answer any four questions. Each answer should not exceed 100 words. Each

question carries 3 marks. e: FfeRaa o & fereel 4 wort & s &) sy e s
=Y arfareram 100 vrsat W vt )| gedes 9er 3 sl g
2. State the main factors influencing the development of entrepreneurship.

ST o forehrTe Rl TTferd S ITel T deal ohl auETsd|
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Bachelor of Commerce (Part II) Assignment 2022-23

What do you mean by business ethics? Discuss the main principles of business

ethics. “STadTRI Afdemrer & 31T ST TUerd 82 SATawETtyes Hifaeme & e gl
T IO SIS

'Stock exchange is a barometer of a country's prosperity.’ Comment on the
statement and discuss the importance of stock exchanges.
Thy fafama sheg U Q31 Skl GEI=AT ST A1k I 21’ 39 hYd W feugft difs e
e Tl el o Heed S|
Explain briefly the steps involved in planning process.
foitsm wfshan # ffea sTrerversh eml i1 & H aui ikl
What is 'decision making'? Discuss in brief the various techniques of decision
making.
forofer o 22 ferofem <y farfsr aeheient ot & & gof i

Section ‘C’

(Long Answer Questions)

(el ST ATy T2)

Note: Answer any two questions. You have to delimit your each answer maximum up to

400 words. Each question carries 06 marks.

e : FraterRae o & foReet 02 wat o1 3ot difSTujeTeht 31om Tedeh I Rt Aferskad 400
7ea| H YT T 8| Tedeh T 06 3Thi o1

7.

10.

What do you mean by 'organisation'? Critically discuss the various theories of

organisation.

IS AT FIT THET &2 TS h! TalH= forermemrsti i sTrerarreres faa=mT
i
Assess the importance of control in management and describe the control process.

T H 0T W Rl AT shiferdl Qe fH=r=ror Sfsha st i i

What are the various sources of finance available joint stock companies in India?

Explain them.

T o 63t Thetl PRI ol Suerse ford & Eid i - | €7 3% sl
Write short notes on the following -

o e wfam fewforn fafa -

(a) Economic Environment of business. sIJHT hl TfefeR STaTarer

(b) Objectives of business combination. A S & 3T
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Bachelor of Commerce (Part II) Assignment 2022-23

Programme Name: Bachelor of Commerce (Part II)
Paper Code — BC 11
(Economic Policy & Rural Development)

areer Hfifa uar areior forermer
Max Marks: 30
Note: The Question paper is divided into three sections A, B, and C. Write Answer as per

the given instruction.
TRIF T A’,’B’ 3R «C’ T @i § T 2] s @ve o Memgar wai o1 3w €1y
Section-A
(Very Short Answer Type Questions)

AT 7Y ST AT U (AT

Note: Answer all questions. As per the nature of the question you delimit your

answer in one word, one sentence or maximum up to 30 words. Each question carries

1 mark. 6x1=06
Tre: Tt Toit T ST AR 1T U IR T TATTAR Teh 16T, Ueh AT AT SATEIhan
30 yTsat ® uiEfre R Uedes U127 1 3k T g 6x1=06
1. (1) For what basic purpose, economic policy is framed?
forer Tt 32w o forw amfeler fifey s simeft 22
(i)  What is the meaning of rural development?
TrTeftor frenre o T 37ef 27
(i)  What is full form of IRDP?
IRDP T forearia &9 1 82
(iv)  What is Death Rate?
T T 27
(v)  Mention any two causes for population explosion in India .
T | SHE AT fIehie o h1$ a1 0T sTaTsa|
(vi)  Define the concept of global village.
ek T ST Rl TRCATIo TS|
Section-B
(Short Answer Questions)
Y I AT T

Note: Answer any four questions. Each answer should not exceed 100 words. Each

question carries 3 marks. Tre: Featalaa o o feredi 4 o %Wﬁﬁﬂ AT U 3T
T HATEHAN 100 TET H URETHA hITSTA| Tedeh W27 3 3Rl T g
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Bachelor of Commerce (Part II) Assignment 2022-23

What is the importance of economic policy?

aTfefer far T I Heed 22

What is the necessity of rural development for our country?

TN 397 3 fore srvefior forshmer i sTrarwshar T 22

Write a short note on 'Panchayati Raj'.

TR ST ST W & fere feouuft forfiat|

What are the main problems of agriculture in Rajasthan?

TSFeT <l Y Al THE THeTy .11 82

Why are their good prospects for 'solar energy' in Rajasthan?

TSI § GRS o foet i 3T 9 WiaHT T 82
Section ‘C’

(Long Answer Questions)

(e ST ATy T2)

Note: Answer any two questions. You have to delimit your each answer maximum up to

400 words. Each question carries 06 marks.

e ; FraterRaa o & foReet 02 wat o1 3o difSTujsTeht 31om Tedeh I st Afershad 400
7ea| H YT T 8| STeleh T 06 3Thi o1

7.

10.

Describe in detail, various sources of rural finance in India.

I & T ford o fore Suersy ol aremt 6 foeem foar & shifsrn

Why export promotion is needed in India? Suggest necessary measures for export
promotion.

I 8 forata aaeiasht stavaendar 1 22 fFata gadas fag e Suewtor gems)
Write a critical essay on 'World Trade Organization and Indian Agriculture'.

Ty IR @ vg YR i fow @ wferrenss T g faRan

What are the merits and demerits of Globalization and Swadeshi?

SefiertoT ua wEel # T ST Ue SR 82
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Bachelor of Commerce (Part II) Assignment 2022-23

Programme Name: Bachelor of Commerce (Part II)
Paper Code — BC 12
(Elements of Financial Management)

IERIRRCESE T EC

Max Marks: 30

Note: The Question paper is divided into three sections A, B, and C. Write Answer as per

the given instruction.

TRIF T A’,’B’ 3R «C’ T @i § T 2] s @ve o Memgar wai o1 3w €1y

Section-A
(Very Short Answer Type Questions)
AT 7Y ST AT T (AT
Note: Answer all questions. As per the nature of the question you delimit your

answer in one word, one sentence or maximum up to 30 words. Each question carries

1 mark. 6x1=06
Tre: Tt Toit T ST AR 1T U IR T TATTAR Teh 16T, Ueh AT AT SATEIhan
30 vTsat ® uiE e R Uedes T27 1 3k T g 6x1=06
1. (1) What is meant by the term Financial Statement?
forefter feraor <At s/ ST 22
(i1) Give the formula of stock turnover ratio.
THE ST STIATA 1 G SIo|
(i)  Give two uses of funds flow statement.
LRI CEE AL DILECIED]
(iv)  What is the objective of Cash Management?
Uh Je=eI T IeT T 27
(v)  What is Cash Discount?
Teha SISl T &2
(vi)  Define Net Present Value.
T e fafer st aferee il
Section-B
(Short Answer Questions)
@Y I ATA TH

Note: Answer any four questions. Each answer should not exceed 100 words. Each

question carries 3 marks. Te: FafalRaa o o frl 4 went o IR S| AT 37U
IR T ATLUHAT 100 IToTT | TRETTHA hITTa| Teeh TH 3 Thi 1 g
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Bachelor of Commerce (Part II) Assignment 2022-23

2. What is the meaning of Average Collection Period? Give its formula.
ST TIrEuT Tafer skt T o7 22 gHeRt T SR
3. How you will prepare statement of changes in working capital?

T S e T s S
4. Calculate EOQ, if -
Annual consumption 4000 units, per unit cost Rs. 10, ordering cost Rs. 60 per
order, carrying cost is 30% of value of inventory.
T SATQRT HIAT o6 UM HITSRT - AT Tftes ITHFT 4000 3HTEAT, Jd 3hTS 1T &.
10, ST STTETT ANTA . 60 T TheT TG hl AT Thel GeT AT 30 Tferd ar?

5 What are the limitations of Financial Planning?
forefar foirstr <t T s/ 22

6 Define Liberal Credit Policy.
IeR @R fif et gl shifsri

Section ‘C’

(Long Answer Questions)
(e STR AT T2)

Note: Answer any two questions. You have to delimit your each answer maximum up to

400 words. Each question carries 06 marks.

e : FraterRae o & et 02 wat o1 3ot difSTujsTaeht 31om Tedeh I st Aferskhad 400
STeaT H ITCHITHA AT 8| STeeh 27 06 3R ot 7

7. The Balance Sheet of Sekhar Ltd. was as follows. You are required to calculate the

following ratios:

IRar oA, =1 Tergr 3T Wb o) STraeht fore STt Y TToT R R -
(1) Current Ratio =Te] U

(i1) Quick Ratio U JAUTd

iii) Inventory Turnover Ratio T¢I 37T STIATA

(iv) Average Collection Period T GUET AT

Balance Sheet

Liabilities Rs. Assets Rs.
Share Capital 4,00,000 | Goodwill 2,40,000
Surplus 1,16,000 | Plant 3,00,000
Decentness 2,00,000 | Stock 1,60,000
Creditors 80,000 | Debtors 90,000
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Bachelor of Commerce (Part II) Assignment 2022-23

Bills Payable 40,000 | Cash 34,000
Other current liabilities 4,000 Prepaid Expenses 16,000
8,40,000 8,40,000

10.

Sales for the year 9 ot forshl Rs. 8,00,000
Cost of sales fsishl il @FTA Rs. 4,80,000 oft|
What is operating cycle concept of working capital? How will you determine the

amount of working capital under this method?

RIS qSft 3hT TR =sh SO T 82 39 39 fofY & swrfefie IS 6l 9 1

STUTA hel THTTAT?

The following data are given

Fixed Expenses (STt ) Rs. 1,00,000
Variable Expenses (IRad-iiet =2) Rs. 10 per unit
Selling price (fasra ) Rs. 15 per unit

Find out - (i) BEP (ii) P/V ratio (iii) Sales to earn a profit of Rs. 10,000 and (iv)
Margin of safety at a profit of Rs. 50,000.

A A - - (i) T9-foreavg formg) (if) AT9-HT=T AT (iii) F.. 10,000 AT AW T foshar
T (iv) 50,000 . TATH I TL&T T

What do you understand by Capital Budgeting? Explain its importance.

ST aISTe | 3T T GHEAA 87 38 Hecd ohl fora=T shiforal
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Bachelor of Commerce (Part II) Assignment 2022-23

General English QEG
Max. 30 marks
Section A ( Very Short Answer questions)
Note: Answer all the questions. 6x01=06
MY LITTLE KITTY

I have a little cat named kitty.

It had soft and white fur.

It is very pretty. It loves to sit on the box. It loves to chase balls and rats. One
day It saw a big rat and ran to catch it. The kitty was too small to catch the rat. I
love my Kitty.

1. 1. What colour is the Kitty?
i1. Where do Kitty loves to sit on?
1il. What did the cat see?
1v. Did the Kitty catch the rat?
V. What did Kitty love to chase?
Vi. Who loves Kitty?

Section B (Short answer questions)
Note: Answer any 4 questions. 4x03=12
Q2. Identify the Noun in the following sentences:--

Ameen likes cricket.
My father is a shopkeeper.
Chennai team won the hockey match.

il e

Children love eating cakes.
Q3. Identify the adjectives.

White duck is very dirty.

I have a large bicycle.

My brother is famous singer.

India is the most beautiful country.

il e

Q4. Fill in correct article ‘a’ ‘an’ ‘the’

1. ... rose smells sweet.
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Bachelor of Commerce (Part II) Assignment 2022-23

Q5.

Q6.

Q7.

Q8.

Q.

1.

2. Kashmir is ..... Switzerland of India.
3. This is..... table.
4. Mr.SohanLal is .....MLA of Jaipur city.

Fill in correct verbs:-

(1) My mother ....... (go/goes) to the temple daily.
(1) Man ... (is/was) social animal.

(111) They ...(left/leave) the house a week ago.

av) I...... (wrote/ write) a letter to father yesterday.

Use the correct Prepositions:

1. Hari is sitting...... (on/ with) Nanu and Tonu.

i1 The house is .....(in/on) fire.

iii.  Divide these pens...( between/among) Anil and Sunil.
iv.  The train is....(with/on) time.

Section C (Long answer questions)

Note: Answer any two questions. 2x06=12

Write an application to your Principal requesting him to permit you on
educational trip with your friends.

Complete the story:

A monkey enters a farmer’s house --- hungry --- search for food ---
puts his hand into the small hole of a box --- takes hold of grams ----
cannot pull his band out --- the farmer’s dog tears him into pieces ---
Moral.

Write a paragraph on any one of the following:-

My India

il. A holiday you enjoyed
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Paper Code — QCA (Elementary Computer Application)
Max Marks: 30
Note: The Question paper is divided into three sections A, B, and C. Write Answer as
per the given instruction.
Section-A
(Very Short Answer Type Questions)
Note: Answer all questions. As per the nature of the question you delimit your answer
in one word, one sentence or maximum up to 30 words. Each question carries 1 mark.
6x1=06
Q.1. What is embedded computers?

TFISS e T g7

Q.2. Name any two Web Browser.
fohegl a dd ST3SR & oTH SAT3T|

Q.3. What is the use of Slide sorter view in MS-PowerPoint?

MS-PowerPoint H§ TeIT88 T T & 3UINET FIAT §?

Q.4. List any four hazards from VIRUS.
IRy ¥ Rl oY IR @Rt i g2 I

Q.5. Write the correct formula for adding the values in Al to A10 cells in MS-Excel.
MS-Excel H Al & A10 FIfAFTHT & Al &l Sl & faw F@r 7 ford|

Q.6. What do you mean by UNICODE?
JfAdIE & T FAT AT &2

Section-B
(Short Answer Questions)
Note: Answer any four questions. Each answer should not exceed 100 words. Each
question carries 3 marks. 4x3=12

Q.1. What is Translator? Discuss the difference between Compiler and Interpreter.

giFeley T §2 FFaser 3R e & g IR W T |

Q.2. Describe the working of Modem with neat diagram.

ASH & FHIH &7 9Tl T DT F 1T HL

Q.3. How to create charts in MS-Excel? Explain with suitable examples.
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MS-Excel # TIC 8 dodd g?739gFd 3¢Te0N Aigd FIC|

Q.4. Discuss the features of MS-Word with different MS-Word Window parts.
fafeesr MS-as fder #mTt & a1 TATE-as H gt | a4 H
Q.5. Explain the main functions of an Operating System.

AR Rern & g7 F1F & IR F a0

Section ‘C’
(Long Answer Questions)
Note: Answer any two questions. You have to delimit your each answer maximum up to 400
words. Each question carries 06 marks.
Q.1. Explain the concept of e-mail. How to create an e-mail account? Write the steps.
S-HT T ITYRUN & IR H §dIU| $-Hel TIAT HAATT &2 WO |

Q.2. What do you mean by Network Topology? Discuss various network topologies in
detail.

3T Acaes cHdidiel ¥ T THST o7 [avar & faffiea sicae el @ a4

|

Q.3. Give the definition of Computer. Explain various applications of computer in different
fields.

HTqET B GRETT | R 87 ¥ SogER & e g & aR F qar|
Q.4. What is MS-DOS? Explain the directory structure in MS-DOS.

MS-DOS T §? MS-DOS # AT =TT & IR H IaTt|
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